Development Homework WEEK 1

Study Figure 1, which shows the distribution of HICs, LICs and Newly Emerging Economies (NEEs).

2) ‘Canadais the most developed of these countries’ Do you agree with this statement? Justify
your answer using figure 2 (4)

Figure 2

4) Explain why HDI values given in figure 3 may be a better measure of development than
GNI? (2)




GEOGRAPHY SKILL QUESTION:

5) Answer all questions. (please redraw the graph if unable to print)

HINT — WHAT IS THE PROBLEM WITH A 1 METER RULE WHEN
MEASURING A 6M FOOTPATH?

Help: Use geogbarrbeacon.com to research on scatter graphs if unsure




